
1) Increase 15 by 80%

Answer: ____________

2) 56.5 - 75.2

Answer: ____________

3) (-24) x 8

Answer: ____________

4) 11/
7 ÷ 10

/2

Answer: ____________

5) Find perimeter of 
square having each side 
(s) equals 49 in

Answer: ____________

6) 12/10 - 2/9

Answer: ____________

7) $201.00 earning 5% compound 
interest for 9 years.

Answer: ____________

8) Find the range of the following set of data:

6, 1, 0, 10

Answer: ____________

9) 'What is the probability of rolling 
factors of 8.when rolling a dice

Answer: ____________

10)

'Name the type of angle.

Answer: ____________

11)

'Name the type of angle.

Answer: ____________

12)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

13) (2 x 85) / (6 x 3-7)

Answer: ____________

14) 26/7 ÷ 42/7

Answer: ____________

15) 26/7 ÷ 42/7

Answer: ____________
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16) 20/1 - 2/5

Answer: ____________

17) Convert the following improper 
fraction 14/6 + 21/2 to a mixed 
number

Answer: ____________

18) 182 - 4 + 9

Answer: ____________

19) (-17) ÷ (-17)

Answer: ____________

20) 15/2 - 18/6

Answer: ____________

Total: ___ / 20
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Answers:

1) 27 2) -18.7 3) 4) 11/35 5) 196in 6) 44/45 7) $311.82

8) 10 9) 1/2 10) Straight 11) Straight 12) 13,21,34, 13) 23887872 14) 2/3

15) 2/3 16) 193/5 17) 41/6 18) 329 19) 1 20) 41/2
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